ER28FEEAKFFESZFEIRE H28.4.3

EH IEGL 5F8F STRE K4 1 2 3 4 5 6 &% -k
10mS60M 1 1 26 =8 1029 1000 1028 1018 99.3 99.0 605.8
10mS60M 2 1 22R¥ HE 966 1024 103.7 99.1 979 1025 602.2
10mS60M 3 1 198F 2% 102.0 99.2 99.0 99.9 98.7 1009 599.7
10mS60M 4 1 24%% gz 98.4 99.8 988 1024 100.1 99.4 598.9
10mS60M 5 1 28mno #* 98.7 98.8 99.9 98.5 941 1000 590.0
10mS60M 6 1 37mE 3 100.6 93.0 97.7 97.4 99.3 98.3 586.3
10mS60M 7 1 254% B% 99.9 97.5 98.2 93.3 97.0 100.2 586.1
10mS60M 8 1 208K #E 94.0 95.5 98.6 98.2 91.7 95.1 573.1
10mS60M 9 1 27 £2 90.2 94.4 93.3 95.2 95.1 91.3 559.5
10mS60M 10 1 21%@ %= 99.7 93.2 88.0 96.0 88.9 87.8 553.6
10mS60M 11 1 188k =% 92.9 93.7 86.4 86.0 88.8 87.2 535.0
10mS60M 12 1 2% R 79.2 81.3 86.3 76.7 79.9 77.7 481.1
10mS40W 1 1 31:mmE %% 98.8 995 101.7 1017 401.7
10mS40W 2 1 29um m== 99.1 98.5 999 1032 400.7
10mS40W 3 1 32|n =R 101.8 99.6 99.7 99.0 400.1
10mS40W 4 1 33=s Fm#m 1003 970 1012 101.1 399.6
10mS40W 5 1 30 Bx 1000 100.3 985 1008 399.6
10mS40W 6 1 34mm 0 96.8 98.8  100.3 98.1 394.0
10mS40W 7 1 354@m B 935 94.0 93.7 89.2 3704
10mP40W 1 2 17O BA 1043 1040 1031 1032 414.6
10mP40W 2 2 16Wum Bmx 1023 1024 1024 1030 4101
AP60OM 1 2 19%®m ERH 89 94 93 94 91 92 553 x=14
AP60OM 2 2 20 = 91 95 94 88 91 84 543 x=13
AP60M 3 2 21F\H /A 89 88 92 90 90 87 536 X=6
AP40W 1 2 23 BE 91 88 93 92 364 x=8
AP40W 2 2 22485 S 90 89 89 91 359 X=7
50mP60M 1 1 2661 & 1010 1002 1020 1038 103.0 100.2 610.2
50mP60M 2 2 36HT EF 100.0 998 1030 1001 1029 1019 607.7
50mP60M 3 1 354@ z& 98.2 996 1022 1033 1023 1006 606.2
50mP60M 4 2 35:LE Hm— 100.4 98.5 99.8 1004 1013 1003 600.7
50mP60M 5 1 39F&: %3 100.3 1000 101.0 98.7 976 1008 598.4
50mP60M 6 1 37zE ws 98.1 99.2 986 1020 100.0 99.7 597.6
50mP60M 7 1 29%m@E BA 97.7 100.3 98.6  100.0 97.7 1006 594.9
50mP60M 8 1 334HE == 98.8 99.4 98.0 989  100.9 97.4 593.4
50mP60M 9 1 433 =3 98.7 1002 97.6 98.8 97.4  100.1 592.8
50mP60M 10 1 30/ =2 98.7 94.5 98.9 99.8 1008 98.4 591.1
50mP60M 11 1 36m# m 98.8 96.6 97.1 99.3 97.0 95.8 584.6
50mP60M 12 1 31315 708 95.6 97.7 95.0 96.1 91.3 93.9 569.6
50mP60M 13 1 40 R# H— 96.5 90.3 97.6 93.0 91.1 98.0 566.5
50mP60M 14 1 28%xim8 & 87.3 93.3 92.3 98.6 94.2 91.4 557.1
50mP60M 15 1 40 = 86.7 90.4 87.8 95.0 96.6 93.9 550.4
50mP60M 16 1 42 Bn 93.2 90.0 96.9 85.9 92.2 89.0 547.2
50mP60M 1 21%x% B— DNS
50mP60M 1 32t —i# DNS
50m3X20W 1 2 33chF EF 91 93 97 99 85 85 550 x=16
50m3X20W 2 2 32 ki 89 89 95 94 92 90 549 x=9
50m3X20M 1 2 31FEs: ma 89 87 98 98 90 88 550 x=12
50m3X20M 2 2 271ERE BE 91 92 98 95 87 84 547 x=12
50m3X20M 3 2 26K 89 90 96 93 85 76 529 x=10
50m3X20M 4 2 29—%kig 7 88 85 94 92 82 80 521 x=7
50m3X20M 5 2 30&k mE 89 84 94 90 83 76 516 X=6
50m3X20M 6 1 47xn = 88 85 91 91 74 65 494 x=7
50m3X20M 7 2 28K EE 79 80 89 93 65 67 473 x=5



